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Question Number : 1 Question Id : 7715134616 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WEG g WHA <90 ¥ &8 e @l QU & T 928 @1 3aR
ElIRY

To improve the beam steering capability in phased array ultrasonic probe, the size of the
element shall be...

g3l/Increased
. Blal/Decreased
9o & AHR W Dly THE Tel/No effect on size of element

: Gﬂﬁaﬁ i ﬁ'&f Tel/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 1 Question Id : 7715134616 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e g WA 3<% ¥ &3 UREIeH @ GUR & U 9ed @1 SFR ....... Bl
G|l

To improve the beam steering capability in phased array ultrasonic probe, the size of the
element shall be...

a. 9al/Increased
b. Bfel/Decreased

c. 903 ¥ AFR | Eﬁ!ﬁ T4 Tel/No effect on size of element

d. Gﬂ’iﬁﬁ I q ®I Tel/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134617 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



0L, &5l ¥ g T 7kW o fagqd 8IeX &l 2 e & fou &g offo foar ol ¢ 98
AT P gU e T fogd Il &1 9w o @ ™ F F R W 9§, 59
dUAF (°C) 1 4 @1 e B o & S & 4.2 kikgK ©

A 7KW electrical heater with 10 L capacity is switched on for 2 minutes. Calculate the increase
in water temperature (°C) by assuming all the electrical energy is used for heating the water. Heat
capacity (Cp) of water is 4.2 kI/kg K.

a. 15 b. 25 ¢. 30 d. 20

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134617 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0L, &5l ¥ 9ok Wb 7kW & fagqd gl @l 2 BFe & fou &g oo far ol §1 98
HPINT B g & o fegd 3o @1 9w v @ T B & R W a8, o
dUaH (°C) @1 gig @I 3Mdbed B Id B S &H 4.2 kikg K B

A 7kW electrical heater with 10 L capacity is switched on for 2 minutes. Calculate the increase
in water temperature (°C) by assuming all the electrical energy is used for heating the water. Heat
capacity (Cp) of water is 4.2 kI/kg K.

a. 15 b. 25 ¢. 30 d. 20

Options :
1.a
2.b
3.c
4.d



Question Number : 3 Question Id : 7715134618 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ffafed & € oF-u1 R 9 & fou Sfa 48 8

Which of the following is not suitable for displacement measurement?

. @ URadl faRIUe ERSTER/Linear variable displacement transducer
3o Ufdfde ¥gHde,/ Digital image correlation
Waord Afadruiifd/ Speckle interferometry

TPRUARYd/ Photoelasticity

a o o o

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134618 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Pofafed & ¢ oH-91 iR 9 & fou 3fad 48 82

Which of the following is not suitable for displacement measurement?

. Y@ URadl fqRITH CREER/Linear variable displacement transducer
3P Ufdfde FgYde,/ Digital image correlation

Wahd AT/ Speckle interferometry

ORI/ Photoelasticity

o o oo

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134619 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



g 3oty 9= & fou ofa der oma fam i R B g

What is the permissible leakage radiation level per hour for low energy X-ray machines?

a. 1uSv
b. 5uSv
c. 10puSv
d. 50 uSv
Options :

1.a

2.b

3.¢

4.d

Question Number : 4 Question Id : 7715134619 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g Sl teg-Y ol & fou ufd der sma Rag fafevo 'R fea g

What is the permissible leakage radiation level per hour for low energy X-ray machines?

a. 1pSv
b. 5uSv
c. 10pSv
d. 50 uSv
Options :
1.a

2.b

3.c

4.d

Question Number : 5 Question Id : 7715134620 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Pl CT d@-id H, Ud T ORdWT ... R IR
In helical CT technique, ‘pitch’ is defined by;

a. 360 f& vfa fvoms foear & gftfer fa
Turn table movement in 360 degrees per beam width

b. 360 g ufd fowvny fawR # onféda s
Article dose in 360 degrees per beam width

c. U fvune fawr ¥ gfAfifa wigy diern
Reconstructed slice thickness per beam width

d. T 3y & #A H T ol

Gantry angle with respect to scan axis

Options:
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134620 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Peferl CT d@-id H, Ud T ORdml ... R I
In helical CT technique, ‘pitch’ is defined by;

a. 360 f& vfa fvoms foear & gftfer fa
Turn table movement in 360 degrees per beam width

b. 360 g ufd fowvny fawR # onféda s
Article dose in 360 degrees per beam width

c. v vy R ¥ wAfia wmEy e
Reconstructed slice thickness per beam width

d. T 3y & #A H T ol

Gantry angle with respect to scan axis

Options:
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134621 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

fAwitd TRwH ot &g & 4T 908 @1 fowvn o W, 3 & g ¢ arl R
WSl IO U M TG T ... REIGI

In analysing the fracture surface of a failed airplane turbine blade, concentric rings around
the origin of the fracture were observed. This pattern suggests:

TR fau/ Brittle fracture
a7 a4/ Ductile fracture
yifd fauT/Fatigue failure
JUad # ¥ BIg 6/None of above

Options :

P 2 T o®

1.a
2.b
3.¢C
4.d

Question Number : 6 Question Id : 7715134621 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fApiod TReH ezt wis & 4T 9 @1 fww e |, fad & qafdg & 9R e
Hebg! 909 T QI TG A ..., I 3

In analysing the fracture surface of a failed airplane turbine blade, concentric rings around
the origin of the fracture were observed. This pattern suggests:

IR fq¥7/Brittle fracture
a4 a7/ Ductile fracture
yifd T/ Fatigue failure
GTP;'IHH i Ebjl'aF Te!/None of above

Options:

e 2 oom

1.a
2.b
3.C
4.d

Question Number : 7 Question Id : 7715134622 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U$ TOFD Wdfds Fefifed &g UTH & 999 32

A TOFD image is similar to which of the following UT scans;

a. A-Scan b. B—scan c. P—Scan d. C—scan
Options:
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134622 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 TOFD Wfafds Fefifed f&g UT™H & 999 32

A TOFD image is similar to which of the following UT scans;

a. A-—Scan b. B-scan ¢. P—Scan d. C-scan
Options:
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715134623 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgforea Yeamm! # Gga Picd Gad,
T Teqel @ g ol 8l
Detective quantum efficiency in digital radiography indicates overall aspects of image
quality which takes info consideration of;

a. HIga RU YH™/Modulation transfer function
b. T Mg/ Detection sensitivity

¢. d/Noise

d. S Ti/All the above

Options :
1.a



2.b
3.¢C
4.d

Question Number : 8 Question Id : 7715134623 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefvrea Yeumm! § UgEH Bicd &, ........... R @R #d U IRfdd T &
T o B g adl 3l

Detective quantum efficiency in digital radiography indicates overall aspects of image
quality which takes info consideration of;

HT§E'F| 30 T/ Modulation transfer function

. YT Yfdl/Detection sensitivity
1d/Noise
. 3udad THi/All the above

Options :

o o o o

1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134624 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3fddeq g @ FEGRI eid ...... ... EH

Working principle of penetration testing is;

a. iUeRl Widfshal/Capillary reaction
b. g &1 UH/Newtons law
c. Hd @& FEH/Snell’s law
d. Gﬂﬁfﬁ g} Eiﬁ g1/ None of the above
Options:
1.a
2.b
3.c

4.d



Question Number : 9 Question Id : 7715134624 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Jfqdeq wigu & FEGRI Hgid . ........ B

Working principle of penetration testing is;

a. iUasl Ulfshdl/Capillary reaction
b. ed @ HTH/Newtons law
c. Hd @I FgH/Snell’s law
d. G@iﬁﬂ 4 U @3 -ol/None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134625 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e wpAw |, Fgiaied TR FERa el & Ffiexu ¥ ¥4 §

In film processing, the following chemicals prevents the reduction of unexposed crystals;

a. BRSgIH/Hydroquinone b. TIEIRGH SFTS,/ Potassium bromide
c. TqecseRe/Glutaraldehyde d. BH2H/Phenidone

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134625 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e oA |, Fgfoied TR oFaRa e & e ¥ o4 @

In film processing, the following chemicals prevents the reduction of unexposed crystals;

a. TI3gI9gdH/Hydroquinone b. WIEI@H SiFT3S/Potassium bromide
c. TqelcseRe/Glutaraldehyde d. BHEH/Phenidone

Options:



1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134626 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U], e § ¥ oH-9 A9eqe 5 §ER G REd &R g2

Which of the following, in general, assures no ringing in an output?

Th WYRY (9 URP fiheed/ A simple low pass filter

. §X®Y 9 IRe feex/Butterforth low pass filter

TSH 19 IR e/ Gaussian low pass filter

. SWad @t eed &1 W fobdr o Gdhdl 8/All of the above filters can be used

Options :

o 0o o o

1.a
2.b
3.¢C
4.d

Question Number : 11 Question Id : 7715134626 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R, Feffed § ¥ oH-91 orgeqe ol WeR o gl &R g2

Which of the following, in general, assures no ringing in an output?

a. U YR 9 URS flhect/A simple low pass filter
b. §XGIY MW UR® fheex/Butterforth low pass filter
c. WUl 9 URS et/ Gaussian low pass filter

d. Swad @t WX &1 W {601 o Ydhdl 8/All of the above filters can be used

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134627 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

el @1 a1 o e & SfeX WD Eidl ¥ Sl & gd Higd GR1 & Hidee/aRie
T Jaed B &, A W Saed ofte & ... |

The class of phenomena whereby transient stress/displacement waves are generated by the
rapid release of energy from localized sources within a material, or the transient waves so
generated.

a. fdqgd 496/ IRUI/Electromagnetic induction
b. @@l &UH/ Acoustic Attenuation
c. @I Ier/Acoustic emission
d. f9ggd de@m fawu/Electromagnetic diffusion
Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134627 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9ol @1 o oy ver & ey wiE Hidl § Sl & gd Higd gR1 & piie/ e
T JAed g §, @ U8 Saed &fe @ ... |

The class of phenomena whereby transient stress/displacement waves are generated by the
rapid release of energy from localized sources within a material, or the transient waves so
generated.

a. [dggd JaP1d RU/Electromagnetic induction
b. @@! &M/ Acoustic Attenuation
c. @M 6/ Acoustic emission
d. fdggd 9@l fGWU/Electromagnetic diffusion
Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134628 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T & SNag d, Ut o ffd 9w $ 9c &Y @ Wia g, U il ¢

In the S-N curve of a material, if the curve becomes horizontal after a certain point, this
implies:

a. Uer ®I Pi5 4fd WA Tl §/The material has no fatigue limit
b. UeH 3t 4fd O 9F U @1 8/ The material has reached its fatigue limit
c. UG HH WY 3RW $I ¥ §/The material exhibits only elastic behaviour
d. UG TUT WANT & fU S B/ The material is ideal for impact applications
Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134628 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e & SN #, It 7% g 9w & ¢ 8w 1 9 g, T o¥iar

In the S-N curve of a material, if the curve becomes horizontal after a certain point, this
implies:

a. Ued @ o1 4fd W1 T §/The material has no fatigue limit
b. Uerd U 4id WA TF UgT IF0 §/The material has reached its fatigue limit
c. Uer HE WURY SRV &I ST 8/ The material exhibits only elastic behaviour
d. werd Wz WM & fU 3Ifad §/The material is ideal for impact applications
Options:
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134629 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U Ufafde @ denr o9 & fou, vfes & e ve | Pefofed § § o9 W
fr S 82

To sharpen an image, which operation in the following is done in spatial domain of image?

a. #A#/Median

b. G/ Average

¢. 3ddcH,/ Differentiation
d. THIHW/Integration

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134629 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U Ufafded @ dewr o9 & fow, vfes & wie ve  Pefofed § § o9 W
o T §2

To sharpen an image, which operation in the following is done in spatial domain of image?

a. H#/Median

b. 3G/ Average

c. 3ddcH,/ Differentiation
d. THHW/ Integration

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134630 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



de & WY 30|, A e @ fafexw PG & & faU, 22T O @ qedied

o] WHAIQL ...... gl
For radiography inspection of 30mm thick plate with weld, the IQIs selected for assessing
2-2T quality.

a. ASTM f&% WOR 25 Ud 7MW@ 10 & §Y TR YR SET-B
ASTM hole type 25 and wire type SET-B with identity 10

b. ASTM f&% W&R 40 Ud d&Wd 10 & §Y dRR Y&R SET-B
ASTM hole type 40 and Wire type SET-B with identity 10

c. ASTM &% WBR 25/ASTM hole type 25

d. ASTM f&% WBR 40/ASTM hole type 40

Options :
1.a
2.b
3.cC
4.d

Question Number : 15 Question Id : 7715134630 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dw @ WY 30M.H. A e B fafeRw FRIG $ & A, 2-27 0 B i e

2 TWHAIQL ...... gl
For radiography inspection of 30mm thick plate with weld, the IQIs selected for assessing
2-2T quality.

a. ASTM f&% UOR 25 Ud dW® 10 & Y dRR YR SET-B
ASTM hole type 25 and wire type SET-B with identity 10

b. ASTM f&% WOR 40 Ud d&H® 10 & §Y¥ dRR YR SET-B
ASTM hole type 40 and Wire type SET-B with identity 10

c. ASTM f&% WOR 25/ASTM hole type 25

d. ASTM &% &R 40/ASTM hole type 40

Options :
1.a
2.b
3.C



4.d

Question Number : 16 Question Id : 7715134631 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uh Wd @l 250°C W 300 kPa W, 390 §o T & 1/20 H IehHUIlg T4 JHada &
o wdifeq foar o &1 U T PR (W)W R (Ra @ 9 GHd g9 & Uid .
H 3R Fui (5U) & uRadd &1l @

A fluid at 250°C and 300 kPa is compressed reversibly and isothermally to 1/20th of its

original volume. Find the work done (W) and change in internal energy (6U) per kg of fluid
(assume fluid is air)

[In(0.05) =-2.99, In(0.1)=-2.3, In(1.1)=0.095, In(1.2) = 0.182]

a. W=-450KJ, 6U=0KJ b. W=-450KJ, 0U=450K]J
c. W=0KIJ 6U=450KJ d. W=300KJ,oU=0KJ
Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134631 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th Wd I 250°C T 300 kPa W, & qd T & 1/20 ¥ IohHUIM T4 Wiy &Y
d Whfsd foar o &1 b T PR (W)W R (Ra @ 9 AF §9) & Ui .
¥ HiaR® Il (6U) F URGaH @1 T @

A fluid at 250°C and 300 kPa is compressed reversibly and isothermally to 1/20th of its

original volume. Find the work done (W) and change in internal energy (6U) per kg of fluid
(assume fluid is air)

[In(0.05) = -2.99, In(0.1)=-2.3, In(1.1) = 0.095, In(1.2) = 0.182]

a. W=-450KIJ, oU=0KJ b. W=-450KJ, 0U=450KJ
c. W=0KJ, oU=450KJ d. W=300KJ,oU=0KJ
Options :

1.a
2.b



3.cC
4.d

Question Number : 17 Question Id : 7715134632 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefvea fa A, 3 W e TS L. o o 2

In a Digital image, gray scale bit depth determines;

a. fU99d MBR/Pixel size
b. fie9q i@/ Pixel pitch
c. W US I Y= PR U fHAT o1 Gl &

Number of gray shades that can be achieved
d. fo fdWc/Image resolution

Options :
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134632 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefvrea fomr #, 7 @ foe T¥R ...... giad ot §

In a Digital image, gray scale bit depth determines;

a. [U99d MBR/Pixel size
b. fie9q U@/ Pixel pitch
c. W e B oI Ol Ww fbu o Tadl §

Number of gray shades that can be achieved
d. T fa¥ed/Image resolution

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134633 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fafex0l & T 9id 4 128 mR/hr B R0 dad SOF F g1 fod Pl T 2 mR/hr
&% & [ HVL 539 &1 e daad Gerl Al

A source of radiation has created a radiation intensity of 128 mR/hr. How much shielding
material with a HVL of .5 inch, is required to reduce the intensity to 2 mR/hr?

a. 33d/inches b. 0.3 d/inches
c. 63d/inches d. 93d/inches
Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134633 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a0 & U@ Fd 4 128 mR/Ar P RS0 dod I $1 g1 g Bl G 2 mR/h
& & U HVL 559 &1 6o dagd e gt

A source of radiation has created a radiation intensity of 128 mR/hr. How much shielding
material with a HVL of .5 inch, is required to reduce the intensity to 2 mR/hr?

a. 33d/inches b. 0.3 3d/inches
c. 63d/inches d. 93d/inches
Options :
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134634 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fefored Weamm! ufofds o o SRy ®UF & AR & @ foy Fefafed F 9
[ FURW &1 JUEN fbu1 9 &2

Which of the following transformation is used to resolve the dark features captured in Digital
radiographic image?

a. SfdRE 4/ Histogram Specification
b. 9d FEH URddH/Power-law Transform
c. T9UT URddd/Gaussian Transform

d

. TIIREE URdcH/Laplacian Transform
Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134634 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e feumme! iofda # oMU SivdRyY 0 &1 FRoxw T & v Fufiied # ¥
7 TR &1 SuEm {6l 91 &2

Which of the following transformation is used to resolve the dark features captured in Digital
radiographic image?

a. Adrd fEH/Histogram Specification
b. U MW uRGcH/Power-law Transform
c. QYN NG/ Gaussian Transform

d. i@ URddH/Laplacian Transform

Options :
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134635 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



feu wh T ® ufeed & f-sefn Rl & o & fn el & @ eh-w o @

Which of the following is suitable to measure the biaxial state of stress on a given material
specimen?

a. Ta@id vie/Strain rosette

b. o UoI@! faefd WA/ Fiber optic strain gauge
c. CEIqiSAT/Extensometer

d. GTPJEH 79 Eﬁﬁ Tol/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134635 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feu wh T ® ufeed & f-sef Rl & we ¥ R fefifea & @ e-w ofw R

Which of the following is suitable to measure the biaxial state of stress on a given material
specimen?

a. fd@fd W/ Strain rosette
b. g VI fapfd HHI/Fiber optic strain gauge
c. CHgigH/Extensometer
d. W H ¥ Sl Fi/None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134636 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Nd: YAG TR &1 01 & foarl g2
What is the wave length of Nd: YAG laser?

a. 10.6um b. 0.106 pm c. 1.06 um d. 106 um



Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134636 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Nd: YAG TR &I @1 && fal 82
What is the wave length of Nd: YAG laser?

a. 10.6um b. 0.106 um c. 1.06 um d. 106 um
Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134637 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P Terdl # Fel Ayl Bidl § S L. @1 3R IHE Bdl ¢

Creep is most significant in materials when subjected to:

Jo d9HH Ud 9 Ufded/High temperatures and low stresses
9 aHE v 9 Ufded/Low temperatures and low stresses

Jo dIUAE Ud 3= Ufded/High temperatures and high stresses
9 A U4 3= Ufded/Low temperatures and high stresses

e o o @

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134637 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U Ul # Yay Hgayqul Bldl 8 9 ..., P! 3R IHE B

Creep is most significant in materials when subjected to:

Jod dig9H Ud 9 gfded/High temperatures and low stresses
9 aUHE Ut 9 Ufddd/Low temperatures and low stresses

J dIUAF Ud 3= Ufdad/High temperatures and high stresses
9 9UAE Ud 9= Ufded/Low temperatures and high stresses

/e o o @

Options :
1.a
2.b
3.¢
4.d

Question Number : 23 Question Id : 7715134638 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Irad is equal to....

a. 0.0lTkg b. 1I/kg c. 0.1T/kg d. 10J/kg

Options:
1.a
2.b
3.¢
4.d

Question Number : 23 Question Id : 7715134638 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Irad is equal to....

a. 0.01Tkg b. 1T/kg c. 0.17/kg d. 10J/kg
Options :
1.a
2.b

3.cC



4.d

Question Number : 24 Question Id : 7715134639 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP POk BT &1 CT Uiaee # Fufafea wia g 21
A hardened beam has the following effect on the CT image?

a. ®ls URddA T81/No change

b. W4 [Udf & WY dw Wioida/Brighter image with poorer contrast
c. ¥ 90O & Y IS Uff§s/Darker image with better contrast
d. &9 fqwle & WY I Widfdd/Darker image with poorer contrast

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134639 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP POk RO 1 CT Uioee # Fufafea wa g 2
A hardened beam has the following effect on the CT image?

a. ®ls URddA T81/No change

b. W4 [Udf & WY dw Wioida/Brighter image with poorer contrast
c. ¥ 90O & Y IS Uff§s/Darker image with better contrast
d. &9 fqwle & WY I Widfdd/Darker image with poorer contrast

Options:
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134640 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



f P10 & fU TOaRE TG 0.808, A b’ 3 $UE ¥ Bal T G Y S W ITae
If the coefficient of restitution is 0.80 for tke action, to what height will the ball dropped from a
height of ‘’, rise on rebound?

a. h b. 0.64 h c. 0.81h d. 0.5h

Options :
1.a
2.b
3.¢
4.d

Question Number : 25 Question Id : 7715134640 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e PR & fo TOaRE T 0.808, A b’ 3 $UE ¥ Bal T G B9 SO W Igae
If the coefficient of restitution is 0.80 for tke action, to what height will the ball dropped from a
height of ‘’, rise on rebound?

a. h b. 0.64h c. 0.81h d. 0.5h

Options :
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715134641 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SS # 3 PG WRI (IGC) .......... BRU AT
Inter granular corrosion (IGC) in SS will happen due to;

a. 3o ®Ie9 3¥/High carbon content
b. Jdd dIUHM/Elevated temperatures
c. ®IFEH 3a&d/Chromium depletion
d. Iuda Ti/All of the above

Options :
1.a
2.b



3.cC
4.d

Question Number : 26 Question Id : 7715134641 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SS # IR BT YR (IGC) .......... BRU B,
Inter granular corrosion (IGC) in SS will happen due to;

a. 3o ®Ie9 3¥/High carbon content
b. Jdd dIUHM/Elevated temperatures
c. ®IFEH 3a&d/Chromium depletion
d. Iuda Ti/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134642 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TOFD Tid &1 fgid ............ & e R HURT &

The principle of TOFD technique is based on the evaluation of;

a. U4 fifi & @y Rl @1 fdqd/Diffraction of signals with back wall

b. % Usd ¥ Rl @1 fdadq/Diffraction of signals from the crack edges
c. o H fual &1 fadd/Diffraction of signals all along the crack
d. ®® W WM & &0/ Ultrasonic wave attenuation at crack

Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134642 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TOFD d@-id @I fbgid

The principle of TOFD technique is based on the evaluation of;

a. U4 Ty & Oy Rl &1 fdddH/Diffraction of signals with back wall

b. @® Uga ¥ Rl @1 fdadq/Diffraction of signals from the crack edges
c. oo ¥ el &1 fadcH/Diffraction of signals all along the crack
d. %% R WG T &UH/ Ultrasonic wave attenuation at crack

Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134643 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P-T 3RE R @ Wgl Ja-dH90 Tie T8, .......... Pealdl &:

The line on a P-T diagram where the Joule-Thomson coefficient is zero is known as:

a. OfopHU g/ The inversion curve.
b. ¥ @/ The saturation curve.
c. ®ild® FAGY Th/The critical isotherm.

d. WHUCIUS &1/ The isentropic line.

Options:
1.a
2.b
3.¢
4.d

Question Number : 28 Question Id : 7715134643 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



P-T 3RE W 3@l & Ja-dH90 T0d A &, .......... Pead o

The line on a P-T diagram where the Joule-Thomson coefficient is zero is known as:

a. OJabHUl dd/The inversion curve.
b. g 9%/ The saturation curve.

c. hifd® TAT T/ The critical isotherm.
d. TATCIUS @I/ The isentropic line.

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134644 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefored eammet Wigw §, WEe & W e 31 30 woR FuiRa e o 9o g

In digital radiography testing, the spatial resolution of detector can be determined as a....

a. WY SMEEH & I § Ufow & Arged H ed o1 Agia @ fom ol geRm
ol T

dimension of the smallest feature that can be resolved at a modulation of twenty
percent with geometric magnification

b. WK aeH & fo 9 UREd & Weed § Wed B Aol &) o Y gasm
ol 9b

dimension of the smallest feature that can be resolved at a modulation of twenty
percent without geometric magnification.
c. AdBTH/BothA&B

d. W& H ¥ I3 eI/ None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134644 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fefoen Yeumms! W 4, Iqge @« e 91 39 eR MG o o 9@ ¢

In digital radiography testing, the spatial resolution of detector can be determined as a....

a. WY MGEH & T §19 UG & Aged § 999 SR gl o fom o geem
ol b

dimension of the smallest feature that can be resolved at a modulation of twenty
percent with geometric magnification

b. wfid oMaeH & fo 9 ORI & WS § G B P @ fom Rl e
ol W

dimension of the smallest feature that can be resolved at a modulation of twenty
percent without geometric magnification.
c. AdB GH/BothA&B

d. Iwsd # U Pi3 eI/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134645 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

miaRd 2 oGl Plaee-60 Wa H U 2 Wie & g W AR diga e 82 Co-60 Wi
& U 7F® "6 & = | B¢ § 14.0 R/A/Ci

What is the radiation intensity at a distance of 2 feet from an uncollimated 2 Curie Cobalt-60
source? Standard dose rate for a Co-60 source =14.0 R/hr/Ci at 1 foot.

a. TOR/hr b. TR/hr c. 14R/hr d. 14R/Mr
Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134645 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



miaRd 2 oGl Plaee-60 Wa H U 2 Wie & g W AR diga e 82 Co-60 Wi
& o 7F® "6 & = | B¢ § 14.0 R/A/Ci

What is the radiation intensity at a distance of 2 feet from an uncollimated 2 Curie Cobalt-60
source? Standard dose rate for a Co-60 source =14.0 R/hr/Ci at 1 foot.

a. TOR/hr b. TR/hr c. 14R/hr d. 14R/Mr
Options:
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134646 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e . ... .. @ U W B

Super conductors are used for;

Vad dedid &7 MG/ Generating strong magnetic fields

yed @R dg4d &7 3dIGA/Generating strong electrostatic fields

. 4991 &7 H WM @R &/ For creating magnetic field free space
gc9a @I ®U TYdd/Bubble chamber particle detectors

e o

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134646 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e . ... .. & U W B

Super conductors are used for;

Vad dedid &7 MG/ Generating strong magnetic fields

yed @R dg4d &7 3dIGA/Generating strong electrostatic fields

. 4991 &7 H WM @R &/ For creating magnetic field free space
gc9a @I ®U TYdd/Bubble chamber particle detectors

e o

Options :
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134647 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

In a throttling process for a real fluid:

a. Wl RR Tl 8/Enthalpy remains constant.

b. U<l fR IEdl §/Entropy remains constant.

c. 3fidk® FHul AR Wl §/Internal energy remains constant.
d. d9HHE R w|dal %;’ Temperature remains constant.

Options:
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134647 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



In a throttling process for a real fluid:

a. @l fR Wl 8/Enthalpy remains constant.

b. T=Ml f@R Igdl &/Entropy remains constant.

c. idR® FHell @R Wl 8/Internal energy remains constant.
d. dUHFE R §dl 8/ Temperature remains constant.

Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134648 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a1 Ubd, WEE 91 R e € 3ue FeRu e ... #5d &

The determination of whether indications are relevant or non-relevant is known as...

a. Hedid/Evaluation b. Adl/Qualification
c. 9/ Interpretation d. WH(d/Acceptance
Options:
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134648 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1 Yod, WHfe o1 R T € sue fuRw a L. #ed o

The determination of whether indications are relevant or non-relevant is known as...

a. Hcdid-/Evaluation b. ATdI/Qualification
c. [de/Interpretation d. Wipfd/Acceptance
Options :

1.a



2.b
3.¢C
4.d

Question Number : 34 Question Id : 7715134649 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a. WIelt®/Scotopic b. HEIU®/Mesopic
c. WINGIMNS/ Stereopic d. BIeIf®/Photopic

Options:
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134649 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g vo-fRf d e el ... oed ©

Vision under low light condition is known as

a. ICiUd/Scotopic b. A%/ Mesopic
c. WIRAIU® /Stereopic d. WBIeifid,/Photopic

Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134650 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



1 99 & U AUH-TTed! (T-5) @ ¥, @ & A1 &1 8. ...... ol WifE & e

In a temperature-entropy (T-s) diagram for a Rankine cycle, the area under the curve represents:

a. % ® GNM {6l T M/ Work done during the cycle.
b. Rreed @I ofdRd FWN/Heat transferred to the system.

c. RH & T J&GA/Entropy generation of the syste.
d. 3fidR@ Fuil § UREGH/Change in internal energy.

Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134650 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1 9 & 0T TUH-TTed! (T-s) M@ 8, @ & 41 @1 8. ... ol WG B &

In a temperature-entropy (T-s) diagram for a Rankine cycle, the area under the curve represents:

a. % ® ONM U T SR/ Work done during the cycle.
b. RReH @ dRd FWI/Heat transferred to the system.

c. fieH @1 Uil 31/ Entropy generation of the system.
d. 3fidR@ FHell § UREH/Change in internal energy.

Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134651 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

&l @1 uikamr, o o off 9% Biew | § @

The amount of distance in which the object is still in focus is known as....

a. IHY TS/ Depth of focus b. &7 @I Mg/ Depth of field
c. e TeUs/ Vision depth d. =% @ TEs/Depth of vision



Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134651 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol &1 aRa, SR g i a By g @ ... ... ®ed §

The amount of distance in which the object is still in focus is known as....

a. BI®Y TS/ Depth of focus b. & @I TeTs/Depth of field
c. & TES/Vision depth d. € @I Tes/Depth of vision

Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134652 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

RY Wedaiagn e W@ & 9 A G2 i @ IR w RRw S e
3 9¢ W G G0 Q At TH T R T I @ ... BEd 8
The ratio of the neutron reaction rate measured with a given bare neutron detector to the reaction

rate measured with an identical neutron detector enclosed by a particular cadmium cover is
known as;

2. BEHAA U/ Cadmium ratio
b. R ¥ 9 U/ Signal to noise ratio

c. FHIdRA MU/ Collimator ratio
d. TRHTW AU/ Activation ratio

Options:
1.a
2.b
3.c
4.d



Question Number : 37 Question Id : 7715134652 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

RU WoREH 2 S0 & T AT 2 i @ IR 1 R e o
T 9 T EH TS O A R AT X R B . ¥ed §;

The ratio of the neutron reaction rate measured with a given bare neutron detector to the reaction
rate measured with an identical neutron detector enclosed by a particular cadmium cover is
known as;

2. BSHTH 37U/ Cadmium ratio
b. i Y @ UM/ Signal to noise ratio

c. HHIARA 3FUH/Collimator ratio
d. WRBTU 3O/ Activation ratio

Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134653 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed & ¥ oH-W b o § 3 aReaRu B 8o

Which of the following process leads to grain refinement in the metal?

a. Ydd/Casting b. deed/Welding
c. Wiu/Forging d. S ¥ U $I5 T/ None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134653 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fofifed #§ 9 on-d ofsw ag # o0 iR o 8o

Which of the following process leads to grain refinement in the metal?

a. Ydd/Casting b. de/Welding
c. Thiu/Forging d. SWad & ¥ @3 g/ None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134654 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U0 feed I |, Yy fig 995 ud ol T #: ........... W....... 8l

In a crystal structure, possible point groups and space groups are ..... and ..... respectively.

a. 230Td/and 32
b. 32Td/and230
c. 64Td/and 230
d. 2307d/and 64

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134654 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U fed W ¥, Yy fdg W W@ SR I8 H9:

In a crystal structure, possible point groups and space groups are ..... and ..... respectively.

230 Td/and 32
32 Td/and230
64 Td/and 230
230 Td/and 64

/e o T o



Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134655 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFofafed g voR & suis ¥ o1 W sefdcs daHE g

Which of the following type of diodes is having a metal and semiconductor junction?

a. UM SIS/ Tunneling diode
b. el THIS/Schottky diode
c. PIN SHIS/PIN diode

d. U ST/ Zener diode

Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134655 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FHfRed U ToR & S/is o U W e S 82

Which of the following type of diodes is having a metal and semiconductor junction?

a. UM SIS/ Tunneling diode
b. Wil SIS/ Schottky diode
c. PIN SHIS/PIN diode

d. YR SIS/ Zener diode

Options :
1.a
2.b
3.c
4.d



Question Number : 41 Question Id : 7715134656 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DH- Fofied ved ued & A ged T 6 A o W ¥ R e o @
Which of the following material property cannot be measured from a standard tensile testing of
a material specimen?

YA A®/ Elastic modulus
TG FHE/ Yield strength

TH Y/ Ultimate strength
ShIqUTeH Geedl/Fracture toughness

P 0 o o=

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134656 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DH-Y Fofied ved ued &1 A ged T 6 A o WE ¥ T e o @
Which of the following material property cannot be measured from a standard tensile testing of
a material specimen?

YR AM®/ Elastic modulus
TRIHG 4/ Yield strength

T YL/ Ultimate strength

d. A egdl/Fracture toughness

& =

£

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134657 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TiEd *R & AR Ted ¥ 8 e R o fuifh PRa W R Sgi 9t e o
JuRfd ... Bl

The presence of detectable acoustic emission at a fixed predetermined sensitivity level at stress
levels below those previously applied.

a. JUgdddl WHId/ Felicity effect

b. JUYaddl $fUrd/ Felicity ratio
¢. oR UHIE/Kaizer effect

d. TicSTgdaT THIE/ Anti felicity effect
Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134657 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e ®R) @ A w0 ¥ § Ww AR @ R PRy W ) St 9t s 9
JuRfd ...

The presence of detectable acoustic emission at a fixed predetermined sensitivity level at stress
levels below those previously applied.

a. JUgdddl THId/Felicity effect

b. JUYdddl $Ud/ Felicity ratio
c. R UG/ Kaizer effect

d. WidIUgdddl FuIE/ Anti felicity effect
Options:
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134658 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



stz ot B 10 1) G & 7 ol & W o gl

Mid-wave infrared thermography uses......range of wavelengths.

a. 0.3umd/ to 0.5um
b. Around lpm
c. 15umd/ to 3um
d. 3um3/ to Sum

Options:

1.a

2.b

3.C

4.d

Question Number : 43 Question Id : 7715134658 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

He T e AU U & a0 ¢g @ JW o gl

Mid-wave infrared thermography uses.......range of wavelengths.

0.3um ¥/ to 0.5um
Around lpm

= o=

1.5um 9/ to 3um

£3

d. 3um¥/ to Sum

Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134659 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fofeied fou S SwER wibar 8, vl | § &9 g @ orl b e
Which of the following heat treatment process, job will be allowed to cool down in the furnace
itself?

VMG Normalizing
3+ic/ Annealing
TH4/Quenching

d. ¢Hd/Tempering

Options :

o o o

1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134659 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofefed 6T S SwER wiba 8, ¥l | § 9 g @ o/ b e
Which of the following heat treatment process, job will be allowed to cool down in the furnace
itself?

VM Normalizing
31T/ Annealing
TH4/Quenching

d. W8/ Tempering

Options :

=

1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134660 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T & GRH 3 UEY &I HoH 9§ UG & Y, &Y &1 HoRal @ dH by 1 FHoffad
T U {59 IW1 SWER Uhd @ A o Godl g2

In order to prevent steel pipe cracking upon quenching which of the following heat treatment
process can be adopted without reducing the hardness of the case;

. B4/ Carburising

. ¢/ Tempering
WHMHF®/ Normalizing
. HICWA/Martempering

o o oo oW

Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134660 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T & GRA T URY @ HoH U Add & U, $U B Boral @ B9 b0 1 FgiaRad
7 ¥ {59 IW1 SUER UHd @ R S 9dl 82

In order to prevent steel pipe cracking upon quenching which of the following heat treatment
process can be adopted without reducing the hardness of the case;

. BI§W/Carburising

. ¢/ Tempering
WHMHFSU/ Normalizing
. HIEG%/Martempering

o o o oW

Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134661 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fefoeq fedmmt ......... ¥ il we a0 TgEet @1 Sw &
Digital radiography employs flat panel detectors made of ..............

2. HARGY YA (a-Se) @ HWdE ¥U U Ui TR @i fagqd omdw H uRdfdd
ol 8, o a1g # fofored wiofdd &H o wgl o 9&dl B

amorphous selenium (a-Se) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

b. HRGY YolEH (a-Se) ol Wy ®U I ouldd e Bl faggd oW # uRafda
ol 8, ol W8 o f3fored oiifde &4 § wel o 9 &

amorphous selenium (a-Se) that directly converts incident radiation into electrical
charge which can then be read to form a digital image

c. HARGY RATHH (a- Si) W e €Y ¥ 3ufad foRkaxw @I fagga emdw # uRafda
Pl ¢, oW a d fafvred uffda &9 § vl O 9o &

amorphous Silicon (a-Si) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

d. CdD THi/BothC &D
Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134661 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fefoeq fedmmt ......... ¥ il we a0 TgEet @1 Sw &
Digital radiography employs flat panel detectors made of ..............

2. HARGY YA (a-Se) @ HWdE ¥U U Ui TR @i fagqd omdw H uRdfdd
ol 8, o a1g # fofored wiofdd &H o wgl o 9&dl B

amorphous selenium (a-Se) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

b. HRGY YolEH (a-Se) ol Wy ®U I ouldd e Bl faggd oW # uRafda
ol 8, ol W8 o f3fored oiifde &4 § wel o 9 &

amorphous selenium (a-Se) that directly converts incident radiation into electrical
charge which can then be read to form a digital image

c. HARGY RATHH (a- Si) W e €Y ¥ 3ufad foRkaxw @I fagga emdw # uRafda
Pl ¢, oW a d fafvred uffda &9 § vl O 9o &

amorphous Silicon (a-Si) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

d. CdD THi/BothC &D
Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134662 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%4 WaTH e H, Fyfafed § U 60 oo ¢ U 9d 1A HERad §e

In liquid penetrant testing, pre-rinsing is essential for which of the following technique?

a. [dUM® Uiy dd-id/Solvent wipe technique

b. MG UY BRSIBih ddbHih/Post emulsifiable hydrophilic technique
c. UMHHIUT Uy 9 NS dd-iid//Post emulsifiable water washable technique
d. Iua T/ All of the above

Options:
1.a
2.b
3.c
4.d



Question Number : 47 Question Id : 7715134662 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%4 WaTH e H, Fyfafed § U 60 oo ¢ U 9d 1A HERad §e

In liquid penetrant testing, pre-rinsing is essential for which of the following technique?

a. [dOmE® Ui dd-id/Solvent wipe technique

b. UHHIGIIY UY ERSIPiD ddbHih/Post emulsifiable hydrophilic technique
c. UHHIAING Uy 9 4aI% db-id/ /Post emulsifiable water washable technique
d. Iuga T/ All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134663 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e 4 ¥ oi-d @ 3@, ol qmm oy F T o, W A vioew o A g
A (0y) B Y TSl 52

Which of the following straight-line joins endurance limit (6.) on the stress amplitude axis and
yield strength (y:) on the mean stress axis?

. WIS 1/ Soderberg line
. ®UidRd TSA4 W@/ Modified goodman line

. TR @I/ Gerber line
. TgH ¥@I/Goodman line

Options :

[ T [ <]

1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134663 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fraffed & ¥ M- 9 @, wioea o 3 7 w1 (o, W@ e iowd o A A
A (0y) B Y Tl 52

Which of the following straight-line joins endurance limit (6.) on the stress amplitude axis and
yield strength (o) on the mean stress axis?

a. WIStd W/ Soderberg line
b. EUdRT TSA @1/ Modified goodman line

c. T&R &W1/Gerber line
d. TSHH W/ Goodman line

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134664 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ffifed § ¥ DH-91 rd i gerd @ oig ¥ e &I g2

Which of the following property makes the composite material different from metals?

a. Uics gAY/ Yield strength b. W @I 0IH/ Young’s modules
c. fdfRmy e/ Specific strength d. dieii@uT/Elongation

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134664 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofdfed 4 ¥ H-91 oeH Sy e B O1g ¥ e S g2

Which of the following property makes the composite material different from metals?

a. Uics YmYl/Yield strength b. T @1 TUd/ Young’s modules
c. [dfw gmwd/ Specific strength d. diefie3uT/Elongation



Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134665 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g FEdD HOH & HER, TiC U Aieh YW §1 Fedod & Ugd WA 9 d@ 7 diid
oo Wi §, o &g & aii deit uRadd @ ORu 1 g

As per the Third Law of Thermodynamics states, if a propellant mixture is cooled as low as

possible towards absolute zero (0 K) before ignition, what would be the implication for the
entropy change during the combustion?

a. Ut URGdH ¥HaH g/ The entropy change would be maximal.
b. Ut URGd TFdH §M/ The entropy change would be minimal.
c. U uRddd I B/ The entropy change would be zero.
d. Y ¥Wi@ §/Information is insufficient
Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134665 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

il Fumas F9H & AR, I U@ Aien Y0 $1 Teded & Ugd WY 99 d ¢ g
o oI 8, o Sgd & SRH e uRadd @1 URUE g
As per the Third Law of Thermodynamics states, if a propellant mixture is cooled as low as

possible towards absolute zero (0 K) before ignition, what would be the implication for the
entropy change during the combustion?

a. Ui uRkad #¥dHaw BT/ The entropy change would be maximal.

b. Ut URGd <TFAH §M/ The entropy change would be minimal.
c. Ut uRad S E// The entropy change would be zero.
d. Y& HUUW 2/Information is insufficient

Options :



1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134666 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W e AP I I Y ...

Film cooling in turbine blades primarily serves to:

a. SMEUIUl &l JURA §/Improve isentropic efficiency.

b. T T U B Feil 5/ Increase overall pressure ratio.
c. Ggl WYd il geldl %/Enhance combustion stability.

d. &g a1 31 B! FEIT/Extend blade service life.

Options :
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715134666 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

cdizd wis § e i oI ®U W ...l

Film cooling in turbine blades primarily serves to:

a. OfFucIUl G&l GURA §/Improve isentropic efficiency.

b. THJ & MU B el 5/Increase overall pressure ratio,
c. &8 WY« P §eI §/Enhance combustion stability.

d. =S ¥al #g B FeI0/Extend blade service life.

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134667 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ted ke & Y I dTUAH & UN DH 9 B PN HeAdre U URaiedd Ade o
frg W T B

How would a hypothetical rocket engine using a Carnot cycle behave if exposed to the near-
absolute zero temperatures of deep space?

e

TG 100% DHI G&dl BRI D/ Achieve nearly 100% caot efficiency.
b. 3w WK Aigd Hi G G/ Lose all its propellant energy.
c. @1 B 91 AU T AR F FAE g e
Combustion chamber temperature would equal the cold reservoir.
d. fafdmw T I E]( ST/ The specific impulse would become zero.

Options :
1.a
2.b
3.cC
4.d

Question Number : 52 Question Id : 7715134667 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g SaRe & RH [ TUAH & U DM 9 B PN Hedarl U URaicld Ade go
fy W DA UM

How would a hypothetical rocket engine using a Carnot cycle behave if exposed to the near-
absolute zero temperatures of deep space?

e

@G 100% DHI G&fdl BIRE D/ Achieve nearly 100% camot efficiency.
b. 3Tt U Fied HWi @ G/Lose all its propellant energy.
c. @1 @Y 91 AU T AR F T g S
Combustion chamber temperature would equal the cold reservoir.
d. fdfRy 3T T g W/ The specific impulse would become zero.

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134668 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U & U U tHIES AG BT dd § ... ...

A positive AG for a process implies:

a. WiohdT TWIGRT # ©/The process is at equilibrium.
b. 3% e & wbar wWrvia® §/The process is spontaneous in the forward direction.
c. 3 T # vipu Ramie® g, ofed fandia foun F wwids 3

The process is non-spontaneous in the forward direction but spontaneous in the reverse
direction.

d. AH T AS ¥FId® %f AH and AS both are positive.

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134668 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U & R @ IS AG &1 ad § 1F.........

A positive AG for a process implies:

a. Vi1 TEIGRT # ©/The process is at equilibrium.
b. 7 fexn § WikW WMia® §/The process is spontaneous in the forward direction.
c. o fexn H v eRaMIid® §, i fauwdia fexn H @i @

The process is non-spontaneous in the forward direction but spontaneous in the reverse
direction.

d. AH Ud AS @@ §/AH and AS both are positive,

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134669 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T TFEIe SUGU off I U T afdd o RT @1 A0 $ o o fafte sorme @
HFA G, ....... 4

An NDT instrument which separates different mass to charge ratio and measuring the respective
lon currents is;

a. 9G4 &/ Ionization chamber

b. oMM WaeHHTd/ Mass spectrometer

¢. TR R BN/ Geiger muller counter
d. FAFUIG® PN/ Proportional counter

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134669 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T TSI JUaU & 9 U UF Uaftd H RT F1 A B o o i somH &l
T FE Q) e %

An NDT instrument which separates different mass to charge ratio and measuring the respective
lon currents is;

G4 D&/ Ionization chamber

SO TCHAIN/ Mass spectrometer

. TR J®R PIeX/Geiger muller counter
d. HFUd® PIdeT/Proportional counter

& o

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134670 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TqH Tes o oM fagqd deol U Yunel, A A of ol o dfg @ fayg
1Y Ud T qm wdd, .. B

Minimum depth beyond which an electromagnetic examination system can no longer reliably
detect a further increase in specimen thickness is...

. Hqd=H B AP TR/ Standard depth of penetration
. &I @1 Yudl TeRR/Effective depth of attenuation
&0 @AM X/ Standard depth of attenuation
. 3fdd¥F T GuIdl RIS/ Effective depth of penetration

o o o o

Options:
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134670 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TqH Tes o oM fagqd deol U Yunel, A A of ol o dfg @ fayg
1Y Ud T qm wdd, .. B

Minimum depth beyond which an electromagnetic examination system can no longer reliably
detect a further increase in specimen thickness is...

. Hqd=H B AP TR/ Standard depth of penetration
. &I @1 Yudl TeRR/Effective depth of attenuation
&0 @AM X/ Standard depth of attenuation
. 3fdd¥F T GuIdl RIS/ Effective depth of penetration

o o o o

Options:
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134671 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T g0 H 06 41 I Sliewu AH, fig F T 7 9 weikid Sl g1 98 Yfad ol
e g ....... [

A metal exhibits a high value of elongation in a tensile test but low ultimate tensile strength. This
indicates the metal is:

a. YR Ud U&d/Brittle and strong b. 70 T4 &M0T/Ductile and weak
c. WX TJ &/ Brittle and weak d. 0 T4 U§d/Ductile and strong
Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134671 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T Wi ¥ 16 4 3= Geiow AH, fiq 9 W 7 0 Weid ol 8l 98 gHd okl
%ﬁ‘éﬂﬂ, ....... &

A metal exhibits a high value of elongation in a tensile test but low ultimate tensile strength. This
indicates the metal is:

a. YR Ud U&d/Brittle and strong b. T4 Td &M0T/Ductile and weak
c. HR T &/ Brittle and weak d. &0 T4 U§d/Ductile and strong
Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134672 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



SHIIGD TEHD DI TdS = du+ PV HH| Ja9d0 ¥ay & R W, Ffdied § ¥ $H
Tl

Consider the thermodynamic idenfity; TdS = du + PdV. Based on Maxwell's relations,
which of the following is correct?

a. (0S/6V)r=PT b. (6S/EP)r=-(6V/eT)p
c. (oS/u)yr=T d. (6S/OP)y=(0V/0T)p
Options :
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134672 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SIS TS Pl TdS = du+PdV AH| Aqqdd Uy & oMUk W, Fgfifed § ¢ o
L

Consider the thermodynamic identity: TdS = du + PdV. Based on Maxwell's relations,
which of the following is correct?

a. (0S/OV)r=P/T b. (6S/CP)r=- (GV/ET)p
c. (6S/our=T d. (0S/EP)y=(6V/0T)e
Options:
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134673 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



W 41 U0a 4 & WEv & oRA, eI uiae-fgid 9§ qeie fRE o8l a6l
T8 GWae:....... @ @D ¢

During a tensile test on a metal sample, a sudden drop in the engineering stress-strain curve is
observed. This is most likely indicative of:

gerd @1 3fud THd MY ¥ UgaHl/ The material reaching ifs yield strength

Ter AEGEA (fdhT) U TERdl §afl/ The material undergoing necking

U fd&0 @7 3fH/ The start of elastic deformation

Ter @ HONTS gedl ®l UR &l gs/Exceeding the material's hardness threshold

a o o @

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134673 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W g 0a # o Weu & RE, Wi sfidd-figid o § defEe fRa cE e gl
T8 44dd:. ...... @ 49 &

During a tensile test on a metal sample, a sudden drop in the engineering stress-strain curve is
observed. This is most likely indicative of;

a. o @1 U4 WHG GHY # UgeH/ The material reaching its vield strength

b. UeH WEGEH (AfdhT) Y TERAl M/ The material undergoing necking

c. VAR fo=U0 BT I/ The start of elastic deformation

d. e B $ORE coal 31 UR Pl §s/Exceeding the material's hardness threshold

Options:
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134674 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T S g, ... ¥ fow 7y wade & ®u d i@ 9w e o @

Side-drilled holes are frequently used as reference reflectors for:

3. AUEQU T & U gd-amm R
Distance-amplitude calibration for shear waves.
b. &-3H G/ Area-amplitude calibration.

c. e @I Hicky A/ Thickness calibration of plate.
d. JUgg e &1 MR B/ Determining near-surface solutions.

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134674 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o dfed fog, ...l ¥ fow ey wade & ®U d i@ 9w e o #

Side-drilled holes are frequently used as reference reflectors for:

a. HUEUU 1 & U gl-omam e
Distance-amplitude calibration for shear waves.
b. &F-3H G/ Area-amplitude calibration.
c. W I Hiery @A/ Thickness calibration of plate.
d. Jugg e &1 YR B/ Determining near-surface solutions.

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134675 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Yeammet wden § ufafde emopar ... .. ... .. ¥ daifed ?

Image unsharpness in radiography testing is linked to:

a. Wd ¥ e gdi/Source to film distance
b. % U A gdl/Object to film distance
c. Wid PR/ Source size
d. Swiad §Hi/All of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 60 Question Id : 7715134675 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yegomwt gdemr & ufafde smmpar ... ... ... ¥ ifd §

Image unsharpness in radiography testing is linked to:

a. did ¥ fied gdi/Source to film distance
b. % U fed gdl/Object to film distance
c. Hid HBHR/Source size
d. Suddd §Hi/All of the above

Options :

1.a

2.b

3.C

4.d

Aptitude Test



PartI

Question Number : 61 Question Id : 7715134676 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

U H gl g4 ek d4 g1/All the trees in the park are flowering trees,
U & P gaf g‘ﬁ@g &/Some of the trees in the park are dogwoods.

o & af B’ﬁl@@ PR ggf g1/l dogwoods in the park are flowering trees.
e Tl & < YT Wl B, o AW B L. gl

If the first two statements are true, the third statement is

(a) Wel/True

(b) Tcid/False

(c) 39T/ Uncertain

(d) JWd /Al of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134676 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



U | i g4 BaeR 44 %1/All the trees in the park are flowering trees.
U & Pd g _E'TT@ &/Some of the trees in the park are dogwoods.

T & ol E}Ii'@_é BdaR g4 2 1/All dogwoods in the park are flowering trees.
e Ugd & o BT W g, o A B ... gl

If the first two statements are true, the third statement is

(a) Wl/True

(h) TIcld/False

(c) 9/ Uncertain

(d) SUdd FHY/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134677 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

o 9 gu ¥ eftE &

To which group does the figure belong?

Group A
Group B |/

(a) A
(b) B
(c) q8] A 7 B /Neither A nor B
(d) ITdad THI/All of the above

Options :
1.a
2.b
3.c



4.d

Question Number : 62 Question Id : 7715134677 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

o 5w 7u ¥ weftm &

To which group does the figure belong?

Group A
GroupB <

(a) A
(b) B
(c) 981 A T B /Neither A nor B
(d) Iuddd T/l of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 63 Question Id : 7715134678 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



maﬂ@ﬂﬁﬂw%lﬁaﬁ@aﬁﬁaﬁqm UEHE‘TEW URwse H Guiy el
@ TR Bl gEd B o7

The average life expectancy for the United States population as a whole is 73.9 years, but children

born in Hawaii will live an average of 77 years, and those born in Louisiana, 71.7 years. If a

newlywed couple from Louisiana were to begin their family in Hawaii, therefore, their children

would be expected to live longer than would be the case if the family remained in Louisiana.

Which of the following, if true, would most seriously weaken the conclusion drawn in the passage?

(a) ym@mmﬁm%mﬁmmﬂmmﬁ%aﬂwm
o &l

Insurance company statisticians do not believe that moving to Hawaii will significantly
lengthen the average Louisianan's life.
(b) T & I 7 YO SNRIY &R G A Wod & W@ Bl Td gl
iE‘II,’T he governor of Louisiana has falsely alleged that statistics for his state are inaccurate.
() BaW B GoHF SHUEN # Yed Gy W SfiRe fuRke oRul & oRu
IR %I!The longevity ascribed to Hawaii's current population is attributable mostly to
genetically determined factors.

(d) i qediae TRl &1 A oioed, 77 of U Sfie o @ Sl vEd g

Thirty percent of all Louisianans can expect to live longer than 77 years.

Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134678 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



maﬂ@ﬂﬁﬂw%lﬁaﬁ@aﬁﬁaﬁqm UEHE‘TEW URwse H Guiy el
@ TR Bl gEd B o7

The average life expectancy for the United States population as a whole is 73.9 years, but children

born in Hawaii will live an average of 77 years, and those born in Louisiana, 71.7 years. If a

newlywed couple from Louisiana were to begin their family in Hawaii, therefore, their children

would be expected to live longer than would be the case if the family remained in Louisiana.
Which of the following, if true, would most seriously weaken the conclusion drawn in the passage?

(a) ym@mmﬁm%mﬁmmﬂmmﬁ%aﬂwm
o &l

Insurance company statisticians do not believe that moving to Hawaii will significantly
lengthen the average Louisianan's life.
(b) T & I 7 YO SNRIY &R G A Wod & W@ Bl Td gl
iE‘II,’T he governor of Louisiana has falsely alleged that statistics for his state are inaccurate.
() BaW B GoHF SHUEN # Yed Gy W SfiRe fuRke oRul & oRu
IR %I!The longevity ascribed to Hawaii's current population is attributable mostly to
genetically determined factors.

(d) i qediae TRl &1 A oioed, 77 of U Sfie o @ Sl vEd g

Thirty percent of all Louisianans can expect to live longer than 77 years.

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134679 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

COMBAT Teg @1 3% G dId Weq &I 984 DY
Choose the word which best expresses the meaning of the word: COMBAT

(a) Conflict
(b) Quarrel
(c) Feud
(d) Fight
Options :
1.a

2.b

3.c

4.d



Question Number : 64 Question Id : 7715134679 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

COMBAT &g @1 3% G dd Weq &I 987 DY
Choose the word which best expresses the meaning of the word: COMBAT

(a) Conflict
(b) Quarrel
(c) Feud
(d) Fight

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134680 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Teay fofte 84 & 76, A0S TeUE UG T I B & U ded € @ e
ficpa We T 81 o W R T = Baysah

As a retail clerk, your manager asks you to perform an assignment you do not like doing. What
would you do in this situation?

(a) ¥ TE¥® B YW HEGT @ T oH AU@ WE T ¢ adl oW P
pelenl

Inform your manager you do not like the assignment and ask for another.

(b) ¥ WEYT @ AP /T ad P BB

Acknowledge your manager and perform the assignment.
(c) 30 e I Dedl/detl b DI THIGq WU § 7Y Ug P AR falt i W
& i agfae

Tell your manager you are feeling ill and ask them to assign the task to someone else.

(d) 3 yav@ P SRl /el cfod o 6 dEyB

Acknowledge your manager but do not perform the assignment.

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134680 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0

TedR fafte g9 & ], AUG UEYw TR T o1 o & foU @Ed § W e
ficpd THe T8 31 oM 3 Rl F @ @

As a retail clerk, your manager asks you to perform an assignment you do not like doing. What
would you do in this situation?

(a) U WYF B Y HOHEN 5 o TH AUS W Tl & aUl G IA
/g
Inform your manager you do not like the assignment and ask for another.

(b) 3 e B ARG /e qul B B

Acknowledge your manager and perform the assignment.
() 3T FEuT B Fel/denl G AP T W § o T FE R R @ O
¥ fou werl/@eti

Tell your manager you are feeling il and ask them to assign the task to someone else.

(d) 3 vdud @l afdighy S/Em didd o T DE/D

Acknowledge your manager but do not perform the assignment.

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134681 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



A NS WA R A UG gl 69 § 9 99 JUFREE A A6 AU S5
g 1 o Il @ QAT T & o do FU F Iuael el diex &1 99
flU ®ed €1 e 9P FU & N d UN dl AHX EIl 5, AT JHPT 99
T U ST U e dgf W Gd ¢l 1@ U @ 96, 99 AU W 3-HA B
JR G ® YT S UG/AHUP UG U /A § U T U Bd 6 &
O B B I e SHIueh] Wk o B

It is your first day working in a high school administrative position, and the vice-principal has

4385

shown you your desk and tells you to pick any available locker in the break room to store your
belongings. You choose the locker closest to the break room door since it is unoccupied and hang
up your purse and jacket. An hour later, while you are responding to an email, a teacher
approaches you and angrily asks why you took their locker. How would you respond?

) # 3 sgmag 5 1wt de) & 9 o T o o i g <
d & g8 gag g/l i o ¥ ot AW I9H forear |

| would tell them that | chose an unoccupied locker, and they could look for another one.
| would advise the teacher to put their name on it in the future.

(b) # FUHEE B TN HEN/EET W@ 3-Ad B W W oR
g
| would ignore the teacher and continue with my email.
(c)fia{mmaifa{mﬁaﬂﬁw%rg [ 3U yuFmEE 3 Judel W die B 9
a1

& & U @el o1 @ T a8 @il o1l # 3% gar g & R
wmﬂﬁaﬁﬂwﬁﬂmﬂmﬁﬁﬁwﬁ

| would tell the teacher that the vice-principal told me to pick an available locker, and the
one | chose was unoccupied. | would advise them to speak with the vice-principal if they
had an issue with it.

(d) # 3reusm/Ame 4 T {6 U JUHRE 4 el U dle] $ 99
aﬂfréiﬁuaﬁlmﬁw 1 dg @il Uil # I Al FEmATT &R
dem/det 6 # ot IMF & g /T au I Sude Wil diey faaH
B! R/
| would tell the teacher that the vice-principal said to pick an available locker, and the one
| chose was unoccupied. | would apologize and tell the teacher that | would move my
belongings and ask them to show me an available locker.
Options :
1.a
2.b
3.¢C

4.d

Question Number : 66 Question Id : 7715134681 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



A NS WA R A UG gl 69 § 9 99 JUFREE A A6 AU S5
g 1 o Il @ QAT T & o do FU F Iuael el diex &1 99
flU ®ed €1 e 9P FU & N d UN dl AHX EIl 5, AT JHPT 99
T U ST U e dgf W Gd ¢l 1@ U @ 96, 99 AU W 3-HA B
JR G ® YT S UG/AHUP UG U /A § U T U Bd 6 &
O B B I e SHIueh] Wk o B

It is your first day working in a high school administrative position, and the vice-principal has

4385

shown you your desk and tells you to pick any available locker in the break room to store your
belongings. You choose the locker closest to the break room door since it is unoccupied and hang
up your purse and jacket. An hour later, while you are responding to an email, a teacher
approaches you and angrily asks why you took their locker. How would you respond?

) # 3 sgmag 5 1wt de) & 9 o T o o i g <
d & g8 gag g/l i o ¥ ot AW I9H forear |

| would tell them that | chose an unoccupied locker, and they could look for another one.
| would advise the teacher to put their name on it in the future.

(b) # FUHEE B TN HEN/EET W@ 3-Ad B W W oR
g
| would ignore the teacher and continue with my email.
(c)fia{mmaifa{mﬁaﬂﬁw%rg [ 3U yuFmEE 3 Judel W die B 9
a1

& & U @el o1 @ T a8 @il o1l # 3% gar g & R
wmﬂﬁaﬁﬂwﬁﬂmﬂmﬁﬁﬁwﬁ

| would tell the teacher that the vice-principal told me to pick an available locker, and the
one | chose was unoccupied. | would advise them to speak with the vice-principal if they
had an issue with it.

(d) # 3reusm/Ame 4 T {6 U JUHRE 4 el U dle] $ 99
aﬂfréiﬁuaﬁlmﬁw 1 dg @il Uil # I Al FEmATT &R
dem/det 6 # ot IMF & g /T au I Sude Wil diey faaH
B! R/
| would tell the teacher that the vice-principal said to pick an available locker, and the one
| chose was unoccupied. | would apologize and tell the teacher that | would move my
belongings and ask them to show me an available locker.
Options :
1.a
2.b
3.¢C

4.d

Question Number : 67 Question Id : 7715134682 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



@aq d9d 9 %, Gll ﬂ'ap .......... g %I/Pen is to poet as needle is to

(a) HMM/Thread
(b) dcH/button

(c) f\tl?ﬂ'iFJSewing
(d) <TYTailor

Options :
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715134682 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T dEd 9 %, Gll HEF .......... 3 %I/Pen is to poet as needle is to

(a) EFT/Thread
(b) dcH/button

(c) f\tl?ﬂ'QFISewing
(d) <T@ Tailor

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134683 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

hY/Statements:

g I, IEY] %}Sume kings are queens.
i i ﬂﬂ? g,’AII queens are heautiful,

ﬁﬁﬁlﬂonclusic}ns:
() TF I Y& F/Al kings are beautiful.
(ii) ot i, I %}‘AII queens are kings

(a) HE [i}qgﬁ %,"Dnl‘,f conclusion (i) follows
(b) HIH [ii)?IEFT ?anly conclusion (i) follows
(c) oI (i)dn (ii)ﬂ'&pl %’/Ei‘rher(i}or[ii} follows
(d) T8 ()T (i) T ENeither (i) nor (ii) follows

Options :



1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134683 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

©Y/Statements:

g I, IEY] %}Sume kings are queens.
i i ﬂﬂ? %{AII queens are heautiful,

ﬁﬁﬂlﬂonclusic}ns:
() TF I Y& F/Al kings are beautiful.
(ii) ot i, I %}‘AII queens are kings

(a) HE [i)qgﬁ %}'Dnly conclusion (i) follows
(b) HIH (ii)?lEFT ?anly conclusion (i) follows
(c) oI (i)dn (ii)ﬂ'&pl %‘,’Either(i}or[ii} follows
(d) T8 ()T (i) T ENeither (i) nor (ii) follows

Options :
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715134684 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T A 0@ 3R b (BRR 35H) & 09 § o 3@ 31 SHdd (R 35) 60 mph B
A ¥ 99 @ g A & T Medl & did B g Waldd T G @ g, d R
GOl IRGTE

A car is behind a moving fire engine on a motorway. The fire engine is traveling at a speed of 60
mph. If the distance between the two moving vehicles is not changing, what is the car’s speed?

60 mph

—

7 niph
distance
does not
fhdnqe

(a) 80 mph
(b) 70 mph
(c) 60mph
(d) 50 mph
Options :
1.a
2.b
3.¢C

4.d

Question Number : 69 Question Id : 7715134684 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T A 0@ 3R Gdd (BRR 35H) & U9 ¥ of 3@ g1 GHdd (BRR 39) 60 mph B
T ¥ 99 W 8l A% & Jad W & 49 31 gl wRafda T 8 W g, @ e
B R f 8

A car is behind a moving fire engine on a motorway. The fire engine is traveling at a speed of 60
mph. If the distance between the two moving vehicles is not changing, what is the car’s speed?

60 mph

PR

] niph
distance
does not
{hdnqe

{a) 80 mph
(b) 70 mph
(c) 60 mph
(d) 50 mph

Options :



1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134685 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

i ] U ferd a1 T 8 | W o U el il ] 4R ol 82

The scale is balanced. What is the weight of the block with the question mark?

DT H 51 ‘

_

@ 1lb
(b) 21b
(¢ 8lb
(d) 10

Options :
1.a
2.b

3.cC
4.d

Question Number : 70 Question Id : 7715134685 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



wh ol Uqferd fba1 T g | Y g U el il ol R vl 82

The scale is balanced. What is the weight of the block with the question mark?

DT H 51 “

_

(a) 1lb
(b) 2Ib
(c) 8lb
(d 10b
Options :
1.a
2.b
3.c
4.d

Part II

Question Number : 71 Question Id : 7715134686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



guft 8, 28, 116,584, ... dG A & ... ... gl

The number comes after the series 8, 28, 116, 584, ...... -

(a) 3504
(b) 3507
(c) 3508
(d) 3509
Options:
1.a
2.b
3.c

4.d

Question Number : 71 Question Id : 7715134686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

guft 8, 28, 116,584, ...... P dG AHACl & ... . ... gl

The number comes after the series 8, 28, 116, 584, ...... -

(a) 3504
(b) 3507
(c) 3508
(d) 3509
Options:
1.a
2.b
3.c

4.d

Question Number : 72 Question Id : 7715134687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



PH-TITY 5 ? P Uowid o

Which one will replace the question mark?

(a) 18
(b) 24
(c) 36
(d) 58
Options :
1.a

2.b

3.¢C

4.d

Question Number : 72 Question Id : 7715134687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PH-IITY 5 ? I HoRid o

Which one will replace the question mark?

{a) 18
(b) 24
(c) 36
(d) 58

Options :
1.a
2.b



3.cC
4.d

Question Number : 73 Question Id : 7715134688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fofofea fdac & 9 50 95 raGimious @1 fAudiad coiF 91 e &1 997

Choose one of the following options that means the opposite of the given word; FLAGITIOUS

{a) Innocent
(b) Vapid
(c) lgnorant

(d) Frivolous

Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fgfaied decl & 9 60 9eg FLAGITIOUS @1 fAudiaY GiH 91d Teq &1 994 &

Choose one of the following options that means the opposite of the given word; FLAGITIOUS

(a) Innocent
(b) Vapid
(c) lgnorant

(d) Frivolous

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o g 7u ¥ Hafia &2

To which group does the figure belong?

l alp
Group A |fEaa}{ @ Y1 6 !

Group B |

- —

(a) A
(b) B
(c) 98] A - B/Neither AnorB
(d) Judad TH/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o g 7u ¥ Hafia &2

To which group does the figure belong?

l alp
Group A |fEaa}{ @ Y1 6 !

Group B |

- —

(a) A
(b) B
(c) 98] A - B/Neither AnorB
(d) Judad TH/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oH-1 oA goft & g1 Dl @2

Which figure completes the series?

N85

(a)

(b)

(c)

(d)

e o = e

Options :
1.a
2.b
3.cC
4.d

Question Number : 75 Question Id : 7715134690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oH-1 oA goft & g1 Dl @2

Which figure completes the series?

"

Options :
1.a
2.b
3.cC
4.d

Descriptive



Question Number : 76 Question Id : 7715134691 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

YR 4R G040 & 14 09 YA F g2 HaR 4RI GE0 H QI YN, SR M @ 3
T Bt URMET G| HaR 4RI U6 & Bl O SR @1 qui &)

What are the advantages and limitations of Eddy current testing? Define lift off effect, edge
effect and end effect in Eddy current testing. Explain any three applications of Eddy current
testing.

Question Number : 76 Question Id : 7715134691 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

HR 4R G0 & H T4 YA F 82 HER 4R G060 H SR JHE, SR M 1 3
JHIG P ORI €1 4R IR GG & T dF SRy @1 qud Bi

What are the advantages and limitations of Eddy current testing? Define lift off effect, edge
effect and end effect in Eddy current testing. Explain any three applications of Eddy current
testing.

Question Number : 77 Question Id : 7715134692 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

150mg & 78 Td gEgleqw Tl @1 3 B.H. Wa AR & 9 6 R Fd ddd
H o fiar T g1 9 Ta verl @1 SuRf W UfdT ea @l Ul SH @1 SWE THeil
ToHiD DH-U1 &> JoIdd @i & 9y SRR G @ aU Bil

150 mg of low-density hydrogenous material is packed inside a sealed stainless-steel bottle of
3 mm wall thickness. Which is the appropriate NDT technique to detect the presence and
packing density of the low-density material. Explain the working principle with neat sketches.



Question Number : 77 Question Id : 7715134692 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

150mg & FH d sReerd e 31 3 B.H. Wa ek & 9 U SR Fu S
H 0% foa w1 g1 9 o vl 31 SuRl W@ Ui ea @l Odl @H &1 S9ged Tl
Jo1S HH-U 52 JoaRyd WA & 9 dEer fbgid &1 aul

150 mg of low-density hydrogenous material is packed inside a sealed stainless-steel bottle of
3 mm wall thickness. Which is the appropriate NDT technique to detect the presence and
packing density of the low-density material. Explain the working principle with neat sketches.

Question Number : 78 Question Id : 7715134693 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

490 BV W ¥ WH bl IR deed de-iel &1 909 B MPL H &7 Sl & |
I 82 MPI ¥ WGH 68 06 TR & &7 9qe & ak ¥ U &

Explain any four magnetization techniques used in Magnetic Particle Inspection. What is the
use of field indicators in MPI? Explain any one type of field indicator used in MPL.

Question Number : 78 Question Id : 7715134693 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

49D BV TEU § Ww ool IR 6@ da-iol @ U Y MPIL H &7 Hgdol @l @
SUIN g2 MPI § Ww ¥l b UGR & & Yqgo & aX H aud ol

Explain any four magnetization techniques used in Magnetic Particle Inspection. What is the
use of field indicators in MPI? Explain any one type of field indicator used in MPL.

Question Number : 79 Question Id : 7715134694 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



A 7 ygad vRkee Ul SEe U WH @1 Y F g2 Heifie Jeumel ¥ wge
foft 7oR & b oM-¥ B2 Ysumme! wlem 7 Wa 3= T ot wd Fg 1 e o
3 Fa

What are functions of image quality indicators and screens used in radiography? What are the
different types of films used in industrial radiography? Differentiate between high-speed film
and low speed film used in Radiography Testing.

Question Number : 79 Question Id : 7715134694 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

A 7 ygad vRkee Ul SEe U WH @1 Y F g2 Heifie Jeumel ¥ wge
foft 7oR & b oM-¥ B2 Ysumme! wlem 7 Wa 3= T ot wd Fg 1 e o
3 Fa

What are functions of image quality indicators and screens used in radiography? What are the
different types of films used in industrial radiography? Differentiate between high-speed film
and low speed film used in Radiography Testing.

Question Number : 80 Question Id : 7715134695 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TR 3gwun ol vd o ufdfde ggddys &1 auia &1

Explain Laser Shearography and Digital image correlation.

Question Number : 80 Question Id : 7715134695 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TR SgEun il ud fefoea ufafde ggddys &1 auig &3

Explain Laser Shearography and Digital image correlation.





